1 1TL37 (K1 1n37)

m /\- Linearized knot diagam

4 1 7 2 10 4 11 1 6 9 8

ﬁ\ EREEEEEEREEE

& Solving Sequence

711?871?49?3?2?5?6~)10%>61,C5’09
A knot diagrarrﬂ 7 1 8 3 2 4 6 C10

Ideals for irreducible component#ﬂ)f Xpar
u _ 16 5. _ _ 16 15 .
I = (675u 1175u™° 4 - - - 4+ 68690 — 641, —101u 333u"° + - -- 4+ 6869a + 12165,

T2 1)
Iy =(b, v 4+a—u—1, v’ —u* =20 +u® +u+1)

* 2 irreducible components of dim¢ = 0, with total 22 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I I* = (675u'% — 1175u'® 4 -

(i) Arc colorings

o= )

0
ailr = \u
1
a8 == u
w= ()
0.0147037u16 + 0.0484787u!® + -
a4 = \ —0.0982676u'% +0.171058u° + -
u +1
ag = \yut — 22
0.112971u% — 0.122580u° + -
a3 = \ —0.0982676u® + 0.171058ul5 + -
—0.0244577u' — 0.179648u'5 + -
ag = 0.294803u® — 0.513175u15 + -
—0.0439656u:'% + 0.558014u'5 + -
as =\ —1.31213u'® 4 1.80259u'® + -
0.0199447u'® — 0.627311u'® + -
as = \ 0.896637u'6 — 1.44970u'® + -
—ud+2ud —u
a10 =\ 7 —3ub +2u3 +u

—ud® +2ud —u
10 = \u” —3u® +2u +u

(ii) Obstruction class = —1

(iii) Cusp Shapes =

6869 6869

- + 6869b — 641,
6869a + 12165, u!'7 — 2416 + ...

_ 12279 16_|_ 9163U15+

—101u1® —
—u—+1)

-4 0.511428u — 1.77100
-+ 1.55234u + 0.0933178

— 1.04091u — 1.86432
-+ 1.55234u + 0.0933178

— 0.444752u — 1.90566
-4 2.34299u — 0.279953

-+ 2.68860u + 0.741010
— 0.866356u + 1.34678

- — 2.46470u — 0.362644
-4 0.751347u — 0.887029

1304 3665
"+ 5369 % ~ 6869

333ul® 4 ...

+



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Ca " —6ut 1l —1
C2 w280t AT+ 1
c3, Cg wT +3ut® 4 — 64u + 32
Cs, Co w420 —u—1
c7,C8,C11 W+t =1
10 wTH18u w1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,4 Yyt =28y Ty — 1
C2 Yyt = T2y 4879y — 1
€3, Cg Yt 4+ 33y10 4 ...+ 8704y — 1024
Cs5,Co y17+18y15+--~—|—y—1
7, s, C11 =12y ey — 1
c10 YT+ 36y + - =3y —1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1C)

Cusp shape

u = —0.956766 + 0.1582401
a= 0.07861 — 2.136281
b = —0.242885 — 0.5487851

0.038126 — 0.5929971

0.78481 — 8.549941

u = —0.956766 — 0.1582401
a= 0.07861 + 2.136281
b = —0.242885 + 0.5487851

0.038126 + 0.5929971

0.78481 + 8.549941

0.963468 + 0.3980411
a= 0.625623 — 0.4078871
b= 0.41757 —1.92272]

—1.44161 + 3.670921

—1.52651 — 6.257571

u = 0.963468 — 0.3980411
0.625623 + 0.4078871
b= 0.41757 + 1.922721

—1.44161 — 3.670921

—1.52651 + 6.257571

u= 0.007712 4 1.1019101
0.27109 — 1.901961
b= 0.39516 — 2.413941

—15.6320 — 4.08111

—2.46162 4 2.015911

uw= 0.007712 — 1.1019101
a= 0.27109 + 1.901961
b= 10.39516 + 2.413941

—15.6320 + 4.08111

—2.46162 — 2.015911

u = —1.15751
a = —0.708872
b= 0.345658

2.21135

4.09400

u = 1.350160 + 0.2314341
a= 0.187422 — 0.3818001
b= —0.837282 — 0.0656161

5.02190 + 3.686291

8.19295 — 2.170871

u= 1350160 — 0.2314341
a= 0.187422 4 0.3818001
b= —0.837282 + 0.0656161

5.02190 — 3.686291

8.19295 + 2.170871

u= 0.453853 + 0.3673561
a = —1.56221 + 1.374751
b= 1.27983 + 0.633811

—2.81840 — 0.191281

—4.55331 — 1.193141




Solutions to I

V=1(vol + v=1C)

Cusp shape

0.453853 — 0.3673561
a = —1.56221 — 1.374751
b= 1.27983 — 0.633811

u =

—2.81840 + 0.191281

—4.55331 4+ 1.193141

= 1.36830 + 0.558691
—1.25567 + 0.810241
0.85212 + 2.193961

—11.4002 + 9.96521

0.22842 — 4.86766.1

= 1.36830 — 0.558691
= —1.25567 — 0.810241

U
a
b
U
a
b= 0.85212 —2.193961

—11.4002 — 9.96521

0.22842 + 4.867661

—1.38445 + 0.556161
1.263420 +- 0.3427841
—0.12095 + 2.248681

—11.30070 — 1.808821

0.020166 + 0.7728321

—1.38445 — 0.556161

—0.12095 — 2.248681

—11.30070 + 1.808821

0.020166 — 0.7728321

—0.223522 4- 0.4169261
—0.753851 + 0.5309951
= —0.416389 + 0.3181271

U
a
b
U
a= 1.263420 — 0.3427841
b
U
a
b

0.238681 — 1.1503701

3.26808 + 5.497801

u = —0.223522 — 0.4169261
a = —0.753851 — 0.5309951
b= —0.416389 — 0.3181271

0.238681 + 1.1503701

3.26808 — 5.497801




IL I =0, v *+a—u—1, v —u*—2u®* +u? +u+1)

(i) Arc colorings

0
ail = \u
1
ag = _u2
u
a1 = \ -y +u
—u?+u+1
aq = 0
—u?+1
ag = \yu* — 22
—u4+u+1
as = 0
—u? 4+ 2u+1
az = —ud +u
—u
as = \yd3 —y
1
as = \0
—ut +u?+1
aig = ut — 242

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u* — 3u? + 2u? + Su + 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ (u—1)°
C2,C4 (u+1)°

c3,Cg u®

& w4 ut F2ud 4w Futl

c7,Cs wWout =2+l tu+1

9 u® —ut +2uP —u? fu—1

C10 = 3ut 40P —u? —u+1

c11 Wt =20 - tu—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
€3,Ce y5
C5,Co 3yt A+ -y -1
c7,C8,C11 y? =5yt + 8y — 3y —y—1
c10 v’ -yt +8y° =3y  + 3y — 1




(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u=—1.21774
a = —1.70062 0.756147 —3.75670
b= 0

u = —0.309916 4 0.5499111

b:

0.896438 + 0.8907621
0

—1.31583 — 1.530581

—1.49901 + 3.459761

u = —0.309916 — 0.5499111

a= 0.896438 — 0.8907621 | —1.31583 + 1.530581 | —1.49901 — 3.459761
b= 0

u= 141878+ 0.219171

a 0.453870 — 0.4027311 4.22763 + 4.400831 2.37737 — 5.829711
b= 0

u= 141878 —0.219171

a 0.453870 + 0.4027311 4.22763 — 4.400831 2.37737 4 5.829711
b= 0
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
€1 (u—1)") (" —6u'® .- 4+ 11lu—1)
C2 ((u+1)%) ('™ 4 28u!® + -+ +47u + 1)
c3, Cg u®(u'” 4 3u'® + - — 64u + 32)
Ca (u+1)®) (" —6u'® + .- 4+ 11u — 1)
Cs (w® +ut + 20+ +u+ 1) (" F2u 4+ —u—1)
c7, c8 (w® —ut =20+ +u+ 1) (" + 20+ —u—1)
9 (w® —ut +2u = +u—1) (" + 2+ —u—1)
10 (u® = 3u +4u® —u® —u+ D7 +18u™® + - Fu+1)
c11 (W’ +ut =20 —u? Fu—1) (" F2u . —u—1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,4 (y = 1)®)(y'" — 28y 4 -+ + 47y — 1)
€2 (y = 1°) (" — 729" + - + 4879y — 1)
es, C yP(y'" + 33y .- 4 8704y — 1024)
¢5,Co W +3y" + 4+ —y - DT+ 18y -y — 1)
c7, 8, 11 (° =5y +8y° =3y —y — (¥ " =12y + - 4y —1)
c10 (" —y* +8y° = 3y* +3y — 1)(y'" +36y'° +--- =3y — 1)
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